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B- 1 "

%A HWMEEZS H $h BANL 4 4AE i =
1] 16 - (3) HBE W

fiE <V (4216.3, t=5.8) 12 m
2116 - (3) HBE W

fiE <V (0267.4, t=6.6) 5 m
3116 - (4) T

B1 1 H:
4116 - (4) T

D1 6 s
516 - (5) R

KE A 10 m 2
6|16 - (7) A T

TR HERI C 1 12 m 2
7116 - (7) A T

A EERC 1 (%) 24 m 2
8| 16 — (23) A A T

=2k B 1 1 He
9|16 - (23) FEFAE R R T

EEAE D1 6 pon
10] 16 - (24) PR T

KE A 10 m 2
11| 18 = ( 5) W RE

I—P (H=2m) M 596 m
12| 18 = ( 5) W RE

I—P (H=3m) M 816 m




B- 2 H

%A HWMEEZS H $h BT 4 4AE i =
13| 18 = ( 5) W RE

I—P (H=2m) M 76 m
14| 18 - ( 5) W RE

I—P (H=3m) M 76 m
15| 18 = ( 5) W RE

V—0—4 (H=2m) M1 40 m
16| 18 — ( 5) W RE

IV—0—2 (H=3m) MI 68 m
17| 18 = ( 8) SREHE T B (2

HS—B (H=4m) A 2 & AT
18] 18 - ( 8) SREHE T B (2

HS—B (H=4m) B 3 & AT
19| 18 - (11) W EERLAE W

& <V (93185, 1=6.0) 54 m
20| 18 - (11) W EERLAE W

8 U (¢ 355.6, t=6.4) 583 m
21118 - (11) W EERLAE W

S Uy (¢ 406.4, t=6.4) 832 m
22| 18 — (19) AR O T

Al () 600 #
23| 18 - (19) AR O T

B1 (&) 35 ¥

RS

24119 - (1) A2 T )

BEHE IX1 A 7 &




B- 3 H
HZl HHEEE H gy BT | g B
RS
25119 - (1) A2 T
THRHEHE IX1X0 Al 78 E|
RS
26| 19 - (1) A2 T
THMHER ITX1X0 A2 48 E|
RS
27119 - (1) A2 T
QEHMHHHE MX1X0 A () 2 =]
RS
28119 - (1) A2 T
QEHMHAK IVX1X0 B () 18 E|
291 19 - (2) AR E S
RHEHEA L () 18 AN - H
301 19 - (2) AR E S
ALAEEHE A 2 133 AN-H
311 19 - (2) AR E S
ALAEHBEA 2 (1)) 2 AN - H
32119 - (2 AR E S
AT EEHE B 24 N-H
33| K- (1) IR T
A 13 & T
34| - (2) HR PRI M s 1
94 m
35| 4 - (3) A R T
A 80 m
36| 4F - (3) A R
A () 160 m
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